Put the following action steps in order to tell the story of MUSCLE CONTRACTION!
A. Nerve impulse (action potential) is transmitted to the neuromuscular junction

B. The action potential causes the sarcoplasmic reticulum to release calcium ions

C. Sodium ions rush into the muscle cell

D. Nerve impulse stops and Calcium ions are reabsorbed by the sarcoplasmic reticulum

E. Muscle cell relaxes

F. Acetylcholine is released into the neuromuscular junction 

G. Calcium ions cause binding sites to open up on actin  
H. Depolarization occurs and action potential is created

I. Myosin heads attach to actin and pull on it causing it to shorten (contract)
J. Sarcolemma becomes permeable to sodium ions 
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